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1324 TF— 42| 42|  84/10.0 |74.0 | 23
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15 BpA sl 42| 42| 84/10.0 |74.0 | 23
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27 5K BET 36| 42) 78/ 2.0 |76.0 | 4
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S[ ity SR 41| 47| 88/11.0 |77.0 | 47
37 | G e 46| 42| 88/10.0 |78.0 | 47
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39 full F 46| 42| 88/10.0 |78.0 | 47
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41 o HEZE 43| 45| 88/10.0 |78.0 | 47
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A7 | HRE A 42| 43| 85/6.0 [79.0 | 30
48 |8 O 44| 45| 89/10.0 |79.0 | 53

2/ 4 HKBHhU =957




HAH :2013.5.27 10:22

<A Y —HR

BRfEAEH B :120134F05 26 H (H)

BEHL 1k TR —NT

Rdo s e b

NERLREFHE @~y F T« 2Aaya—R SN - BE88 A ME3IAN AFFILA
JEAE SINE K4 OUT| IN | GROSS | HDCP NET | GROSSJIE{Y: ik
48 HITEY 7R 44| 45| 89/10.0 [79.0 | 53
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51 = ELM 41| 43| 84/5.0 |79.0 | 23
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55 ¢ K LT 46| 43/ 89/9.0 (80.0 | 53
56 B8 i 40| 42| 82/2.0 |80.0 | 16
57 Akl £, 48| 43| 91/10.0 [81.0 | 65
58 |[ElgE B 43| 45| 88/ 7.0 |81.0 | 47
59 HH{E T 41| 43) 84/3.0 81.0 | 23
60 K& & 44| 47| 91/10.0 |81.0 | 65
61 BEEF JIE— 44| 47| 91/10.0 |81.0 | 65
62 |t K 44| 47| 91/10.0 |81.0 | 65
63 ZZH I 42| 49| 91/10.0 |81.0 | 65
64|/Mr SERR 49| 44| 93|11.0 |82.0 | 76
65 TR Ak 48| 44| 92/10.0 (82.0 | 71
66 = H Hik 46| 46| 92/10.0 |82.0 | 71
67 K5 fkik 43| 49/ 92/10.0 |82.0 | 71
68 % & B 39| 49| 88/6.0 [82.0 | 47
69 FHP Hif 48| 42/ 90/ 7.0 83.0 | 59
69| % & 48| 42/ 90/ 7.0 83.0 | 59
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